
mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-01 

dkslZ 'kh"kZd%&  

¼Course Title½ Plant Diversity - I 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 
 

1- ouLifrd thou ds izkphu izek.k D;k gSa muds tkus ekus :iksa ds ckjs esa crk;sa rFkk  muds 

fodklkRed egRo dks le>kb;sA  

What is the earliest evidence of plant life. Give brief account of the more well known forms and 

discuss their evolutionary significance. 

2- 'osr fdV~V D;k gS\ ljlksa ds 'osV fdV~V mRiUu djus okys dod ds thou pØ dk o.kZu dhft,A 

 What is white rust? Describe the life history of the fungus causing white rust of mustard? 

3- iNssrk vaxekjh D;k gS\ vkyw ds iNsrk vaxekjh mRiUu djus okys dod ds thou pØ dk o.kZu 

dhft,A 

What is late blight? Describe the life history of the fungus causing late blight of potato. 
 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- 'kSoky esa fofHkUurkvksa dk laf{kIr fooj.k nhft;sA  

Discuss briefly about algal diversification. 

5- czk;ksQkbVk fdl HkwxHkhZ; dky esa mRiUu gq, Fks rFkk muds fodkl ds ckjs esa crk;saA  

In which geological period pteridophytes came into existence and discuss 

           their brief evolution. 

6- 'kSoky D;k gSA  

What is Algal Rigments. 

7- fQ;ksQkblh esa ih<+h ,dkUrj.k dks le>k;sA  

                  Explain alternation of generation in phaeophyceae? 

 



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-02 

dkslZ 'kh"kZd%&  

¼Course Title½ Plant Diversity - II 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 
 

1- ftEuksLieZ dk fodkl dc gqvk] muds fodklkRed izo`fRr;ksa dk laf{kIr fooj.k nhft;sA  

When did the Gymnosperm evolve, Write briefly about the main trends of evolution. 
 

2- lkbdl vkSj ikbul ds Hkzw.kksa ds ifjorZu dk o.kZu dhft,A  

Describe the development of embryos in cycas and pinus.  
 

3- dqy jSuudqyslh ds vfHkyk{kf.kd y{k.kksa dk o.kZu dhft, bl dqy ds çkFkfed y{k.kksa dh foospuk 

dhft,A 

Give an account of characteristic features of family Ranunculacee. Discuss its primitive 

characters.  

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 

vf/kdre vad% 12 

Maximum Marks: 12 

4- izksftEuksLieZ fdls dgrs gSa\ muds fodkl dh fo'ks"krk crk;saA  

What are the Progymnosperms . Discuss their evoluationary significance. 

                              

5- ,d chti=h rFkk f}chti=h ikS/kksa ds foHksnu ds ckjs esa lfp= crk;saA  

Distinguish between monocot stem and dicot stem giving diagrams. 

 

6- dEiksftVh esa ijkx.k ij fVIi.kh fy[kksA  

Write the short note on Pollination in compositae.  

 

7- fuEufufyf[kr ds okuLifrd uke ,oa dqy fyf[k;s 

Write the botanical names and families of following.  

1- ewxQyh (Ground nut) 

2- pk; (Tea) 

3- twV (Jut) 



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-05 

dkslZ 'kh"kZd%&  

¼Course Title½ Cell Biology 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 

1. thonzO; ds HkkSfrd rFkk jklk;fud xq.kksa ds ckjs esa foLr`r tkudkjh nsaA  

Describe the physical and chemical properties of protoplasm. 

 

2. Økflax vksoj D;k gS\ v/kZlw=h Økflax vksoj dh fØ;kfof/k ds ckjs esa crk;saA  

What is crossing over? Describe the mechanism of meiotic crossing over?  

3. thoæO; ds HkkSfrd rFkk jklk;fud xq.kksa ds ckjs esa foLr`r fooj.k nsaA  

  Describe the physical and chemical properties of protoplasm. 

 

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 

4- dksf’kdk pØ 
Cell cycle   

5- Mh-,u-,- ,d vuqokaf'kd inkFkZ gSA bldh foospuk dhft,A  

          ‘DNA’ is a genetic material discuss. 

6- fp=ksaa dh lgk;rk ls v/kZlw=h foHkktu I dk o.kZu dhft;sA  

 With the help of diagram describe the stages of meiosis I 

7- ikS/ks dh dksf’kdk esa lkbVksdkbusfll dk o.kZu djsA  

 Describe cytokinesis in plant cells.  
 

 

 



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-06 

dkslZ 'kh"kZd%&  

¼Course Title½ Plant Ecology 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 
 

1. iznw"k.k ls vki D;k le>rs gSa\ ok;q iznw"k.k rFkk ikS/kksa ds thou esa mlds izHkko ij ys[k fy[ksaA  

What is pollution. Write an essay on air pollution and their effect on plant life? 

 

2. eq[; ok;q iznw"kd dkSu&dkSu ls gSaA ikniks rFkk muds nq"ifj.kkeksa dks fdl izdkj fu;af=r fd;k tk 

ldrk gS( o.kZu dhft,A  

What are the major pollutants? Describe how their adverse effects on environment can be 

controlled through use of plants.  

 

3. fdl izdkj ifjfLFkfrdh; dkjd tSls izdk'k rkieku vkSj ènk ikS/kksa ij izHkko Mkyrs gSaA o.kZu dhft,A 

How do ecological factors like light, temperature and soil influence the plants? Describe them. 

 

 [k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- Lekax dh ifjHkk"kk rFkk mldk fooj.k nhft;sA  

Define and describe Smog? 

 

5-  [kk| J̀a[kyk ,oa [kk| tky dk o.kZu djsaA  

Describe food chain and food web. 
 

6- clUrhdj.k ij fVIi.kh fy[kksA  

Write the short note on Vernalization.  

                      
7- ikfjfLFkfrdh dk egŸo 

Importance of ecology  



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-07 

dkslZ 'kh"kZd%&  

¼Course Title½ Genetics 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 
 

1. esaMy dk law of inheritance D;k gSA  
What is the Mendal‟s law of inheritance. 

 

2. lgyXurk rFkk tksu fofue; dh izfØ;k dk lfp= o.kZu dhft,A  

Describe the phenomenon of linkage and crossing over with the help of diagrams. 

 

3. mRifjorZu ds vk.kfod vk/kkj dh foospuk dhft,A 

Describe molecular basis of mutation?  

 

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- vksisjkWu ekWMy 

Operon Model 

 

5- U;wfDy;kslkse 
Nucleosome 

 

6- MkbgkbfczM Økl ls vki D;k le>rs gSa\  

What is a dihybrid cross? 
 

7- izksdsfj;kVl esa gene expression dSls gksrk gSA  

 What is gene expression in prokaryotes.  

 



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-08 

dkslZ 'kh"kZd%&  

¼Course Title½ Plant Physiology 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

vf/kdre vad% 18 

Maximum Marks: 18 
 

1. ,slUV ¼jlkjksg.k½ lSi ls vki D;k le>rs gSa\ bldh dkSu lh ekuh gqbZ Fkh;jh gS\ orZeku er ds ckjs 

esa crk;saA  

What is ascent of sap? Give the most accepted theory of Ascent of Sap. 

 

2. o`f) fu;eu ds igyqvksa Ikj cy nsrs gq, vfdluksa ij fuca/k fy[ksaA 

Write an assay on auxins giving emphasis on the aspect of growth regulators?   

                                                  

3. isaVkst QkWlQsV ikFk os dk o.kZu djsaA 

Describe pentose phosphate pathway.  
                                   

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 

4- nhfIrdfyrk ij lw{e fVIi.kh fy[ksaA  

Write short note on photoperiodism . 

 

5- vfØ; ,oa lfØ; mn~xzg.k 
Passive and active uptake   
 

6- fVIi.kh yhf[k, (write short note on) 

1. fMi;qtu (Diffusion) 

2. vksleksfll (Osmosis) 

3. vksleksfVo (Osmotic pressure) 

 

7- fVIi.kh fy[ks& Write the short note on 
1. bFkyhu (Ethylene). 

2. ,cflfld ,flM+ (Abscisic Acid).   



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-09 

dkslZ 'kh"kZd%&  

¼Course Title½ Developmental Biology 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

vf/kdre vad% 18 

Maximum Marks: 18 
 

1. mi;qDr fp=ksa dh lgk;rk ls y?kqchtk.kqtuu dh fØ;k dk o.kZu dhft,A  

Describe the process of micro-sporogenesis with the help of suitable diagram? 

 

2. fuEu ij laf{kIr fVIi.kh fyf[k;sA ¼v½ Anther vkSj ovule ¼c½ Seed vkSj Fruit izfØ;k le>kb;sA  

Write short notes on – (a) Anther and ovule. (b) Seed and Fruit. 

                                        

  

3.  fdlh ,d mnkgj.k dh lgk;rk ls es.My ds Lora=k viR;wgu fl)kUr dk o.kZu dhft,A 

             Describe Mendel’s law of independent assortment with the help of suitable example. 

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- fVIi.kh fy[ksa &  

1- ijkx.k 2- Hkw.kiks"k 

Write short notes on : 

Pollination 2. Endosperm 

                        
  

5- vksisjkWu ekWMy 

Operon Model 
       

6- Hkw.kiks"k 
Endosperm 
 

7- Heartwood vkSj sapwood ij fVIi.kh fyf[k;sA 
Write note on Heartwood and sapwood. 



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

dkslZ dksM % 

Course Code: UGBY-10 

dkslZ 'kh"kZd%&  

¼Course Title½ Taxonomy and Evolution 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

vf/kdre vad% 18 

Maximum Marks: 18 
 

1. csaFke rFkk gqdj }kjk izLrkfor f}chti=h ds oxhZdj.k dh :ijs[kk nhft;sA  

Give an outline clalssification of Dicotyledonae proposed by Benthem and Hooker. 
 

2. fuEu ij laf{kIr fVIi.kh fyf[k;s& ¼v½ ekuo fodkl ds dkjd ¼c½ VSDlksukfed dSV~xjht  

Write short notes on following- (a) Factors in hominid evolution. (b) Taxonomic Categories  

 

3. tSo fodkl ds çek.k ds ckjs esa fyf[k;sA 

Write down about the evidence evolution. 

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- lkbfFk;e iq"ixqPN ds yEcor dkV dk fp= cuk;saA  

Draw labeled diagram of L.S. Cyathium inflorescence. 

 

5- laf{kIr fooj.k nsa& 

1. uoMkfoZuokn 2- ysekdZokn 

         Write short note on – 

1. Neo Darwinism 2- Lamarkism 
                 

6- MkfoZu Qkbykstsuh dh ifjdYiuk dk o.kZu dhft;sA 

 

7- Organic evolution dks ifjHkkf"kr dfj;sA 

   Define organic evolution  

 

 

 



mÙkj çns”k jktf"kZ V.Mu eqDr fo”ofo|ky;] ç;kxjkt 

foKku ¼Lukrd½ dk;ZØe vf/kU;kl l= 2019&20 

 dkslZ dksM % 

Course Code: UGBY-11 

dkslZ 'kh"kZd%&  

¼Course Title½ Statistical Methods 

vf/kdre vad % 30 

Maximum Marks : 30 

 

[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

vf/kdre vad% 18 

Maximum Marks: 18 
 

1. Discuss about the Arithmetic Mean with its application and merits and demerits. Also prove 

that the A.M. is not independent of change of origin and scale. 

2. Define Variance. State and prove its additive property.  

3. Discuss about the Dispersion. Also define its all measures of Dispersion in detail.  

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 
 

1. Discuss about the Pie Chart and Pictogram.  

2. State and prove first property of the mean. 

3. Distinguish between Frequency Curve and Frequency Polygon. 

4. Show that the median of a variable is the intersection point of ogives.  

 

 


